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Question ID: 100001

Question Type: | MCQ

£:{1,2,3,4 > 1{1,2,3,4,5,6} @

Question: .
F)+f(2)=f(3), 3T THU Fa= HEAT 3R,

A: 60

B: 90

C: 108

D: 126
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Ql.festion 100002

ID:

Question

Type: MCQ

Question: | X & B ¥, 8 A +xd+a2+x+1=0, A o201 +p20% 2021 + 52021 7 FEfiTO IHT
TS T

A: -4

B: -1

C: 1

D: 4
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QL{estion 100003

ID:

Question MCQ

Type:




; 1
_ HASl ne N 9137 S, ={ZEC: |z —3+2i| = E] q T, = {ZEC: |z—=243i| = —]. ™
Question: 4 n
neN:S NT,=d) A HEde S HE R,
A: §]
B: 2
C: 3
D: 4
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Item No: 4
Question
D 100004
Question
Type: MCQ
1 TS FHIHEA YA IS THS 3 0 A € (0, 47) AW fhad=t de .
Question: 3 (i) =2
3 (cos 20) x+4y+3z=3
6x+7y+7z=9
A: 6
B 7
C: 8
D: g
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Question ID: 100005

Question Type: | MCQ

Question: S I{]fl, (\/n‘? —n—1+na +B) =0 W8a+p) =
A 4

: —8

c —4
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Question
D- 100006
Question
Type: MCQ
1942 ) i
Question: | ()= (12— 2x+7) =122~ 1801+ 31 o oy [ 3, 0] a1 Shertron et 91 e (o), S
LS
A: o= U
B: o= — 3
C: d& (—1,0)
D: de(—3; =1]
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Question
D- 100007
Question
Type: MCQ
Question: | y(x) =ax> + bx>+ cx +5 x-3§@ P(— 2, 0) = faiga T¥i a1 = y-21gmen Q, feiga &ady, fa9 ==
|y R 3 3R, @ y(x) =i Tenfes stfeeRan fea 3Te.

A: E

4
B: 2_9h

4
C: E

4
D: 2

2
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Question 100008

ID:




Question

Type: MCQ
Question: | A={(x, y) : x2 < y < min {x+2, 4—3x}} T TN TS I ETFHD e,
A: ﬂ
8
B: E
6
C: 1_9_
6
D: E
8
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Questi
Do 100009
Questi
T;pees: ion MCQ
x 1 ST HEAE [x] 7 x U WA TR HEeArs qed "iel §e qEael e, f7 arad qed
TN % A [— 10, 10] 1 AT o WISSTHT AT Fh
x — [x], [x] foom o8 ®
Question: ame. f(x) =
: 1+ [x] — x, [x] SR [x] 99 3@ ™
11_7_ 10
Wof _jmf(x) cos x dx
A 4
B: 2
C: 1
D: 0
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Question 100010

ID:




Question

Type: MCQ
o . 2e% —6e* +9
c:y=y(x) T FH (x, y) foiga Feoen witiFa == ——— 3. S ¢ ¥ Th
Question: 2+9e
1. = 1 2 : o« =
[U, 5t 2ﬁ]ﬂ [a, =@ )mﬁga:—rmamﬁme
A: 3+ \/E
3-42
N 3 (3+42
V2 (3-42
N 1 (J2+1
V2 (V2 -1
D: 'JE i
V2 -1
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Question ID: |[100011
Questi
T;pees: ion MCQ
Question: | (x —y2)dx +y(5x +y?)dy =0 =1 fohosh THEwOT= qHE 6 3Te.
A (y*+2)*=C|(y* +2x)°|
(2+29" =2+
c (12 +1)%=C (@2 +x)}
(72 + 203 =C y2+ )8
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Question 100012

ID:




Question

Type: MCQ
TSHTIET SR @ STIOTRT IO A(4, 3) faiga™ S| o x—y —2=0 91 e B foiga B, ST e AB =i
Question:
IE] % e T B foig T 3T
A 2x+y=
B: 3x —2y=
C: x+2y=6
D: 2x—3y=3
Topic: Mathematics-Section A
Iltem No: 13
Questi
Dot 1100013
Questi
T;peesz ion MCQ
Question: -8 TR O F 22+ (y—1)%= 1a§ama@wwﬁma¢am%ﬁq B, B>0F
S| fym Lem |RLIa W y= 4?111??&33%@@1%%%

A: 32‘/5

3
B: 40"/5

3
C: %

3
D: g
3
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Question 400014
Question MCQ

Type:




Question: 9 -1 —5 2 3 5 3 7 8
HHTTTE M1 Fao™ @9 2. P a1 yaord (2, —5, 11) =1 f6gum &fd d sdée @ d2
A: 147
2
B: 96
C: g
3
D: 54
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Question
D: 100015
Question
Type: MCQ
g« ABC 7 frsior sgA B'_(}:=:, CA =§, ﬁa:?, > = 62, §‘=2J§ aarfor
b - ¢ =12 e faem e =,
queston: | (51): |3 x 5) + (2 x o) = [ =622 = 1)
ZACB = cos ™! \E
(S2) : 3
™
A (S1) T (S2) T=T HA e
B: Feh (S1) T AR
c: Fh (S2) HeA 3
D: (S1) T (S2) A= 3TA MR
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Question

D: 100016
Question
Type: MCQ
Question: T fgug faauom=ar weg 9 Yool Il oS 9 UK STRH 24 F 128 31Rd. @ Tah fohal aF a9
uestion: ]
(successe ) THevar=T Hureaar ATE.
33
A: R
232
33
B: _—
229
33
C: _—
228
33
D: —_—
22?
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Question 100017
Question
Type: MCQ
| HE U HEUIN AT W SFEl e 3THAI THeU 3 SR o 9 B Ade W FE x e R &
Question: ;
2toax+p = 0 FAHUIE HareId TR,
A: E
36
B: E
9
C: l
2
D: E
36
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Question ID:  |100018
Question
Type: MCQ
Question: T —4m < x < 4 IHS T |cos x| =sin x = SHS 1 FE&A .
A: 4
B: 6
C: 8
D: 12
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Question
D 100019
Question
Type: MCQ
T HEMER Q IAT 3T PQ B 7RI 397 3T, foig R wr=ret €4 s f99ral § QR =15 m. <R
Question: | FgMTaiie A fagurEA R =1 3@ %H 60° 318@ 9 PR 7 A fagunft 15° =1 ®F =1af@ Fe ofe ®
TR 39 (Hie 7)) TR,
A 5(24/3 + 3)
B: 5(/3 +3)
C: 10(v3 +1)
D: 10(24/3 + 1)
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Question ID: 100020

Question Type: | MCQ

Question: WIHBUHT I fIHH 2T 3T ?
A: (~p)vqg =rp
B: p=(~p) vaq




C: (~p) vq) =q
D: q=((~p) v q)
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Question ID: | 100021
?ues.tion Numeric Answer
ype:
3 —1 =1 _
-J§ 1 —1

ST A=|1 0 -1 EIB=A—LE'{m=T‘rIT
Question: 1T -1 0

ine 1.2, 100}|A“ +(@B)" = A + B M e et wen o,
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Question
D- 100022
Question .
Type: Numeric Answer
Question: “MANKIND' 7 Sreg[ies e 911 defel A fedied o Soril ragehMaar shur orees ad MANKIND'

| W YTSETE ST I IS,
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Question
D: 100023
Question .
Type: Numeric Answer
o0 15
1 1 — x)to ;
Question: et + ( tx) ,x 20, = foRamdies t T ST SR 9e= FHe fhaa st K ede
T8 K
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Question

D- 100024
Question .
Type: Numeric Answer
9T, a, b a1 EF YR aRad §&A1 ARG S p, r A x2—8ax +2a=0 =41 IFA ARA. q I s A
. 1 111
Question: | x2+12bx +6b=0 =1 3HTF AT d —, —, —, — & NG g2t s@AET W a1-b !
P q T S
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Qgestion 100025
ID:
Question .
Type: Numeric Answer
15
, SR a,=b,=1,a,=a _,+2d b =a_ +b, _, T 4% TS n = 2 Fla, W Y, a, " by
Question: noon n n #=h
L T,
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Question | 490026
?ues.tion Numeric Answer
ype:
}4x2 —8x+5‘, if 82 —6x +120
. T f(x) = [a] 7 o JaT HieT F9oea e e g
Question: | 4x” —8x +5|,if 8 —6x +1<0,
HiEt He grgael S, %o f faweda @l e R wfie feig=h den 3e.
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. m+1*?
ml}ll_]:}n = [k ) (ak +2) + .04 0k + )]
@ n
Question: 1
=33- lim ——- [11( LK. gk +...+nk},
n—eee 1M
T K =t quiiert fohma 3.
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Question
D- 100028
Ques.tion Numeric Answer
Type:
question: | T X2+ 2= 2x + 2fy + 1 =0 ageer=a I ATEIE FHH0 2px —y =179 2x + py =4p 3ed 3N .
" | 3a2 —y? =3 AT ST Aqear=AT hal ST 7 T ol T(¥eh=1 =& me(0, <) FHS
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Question
D- 100029
_?;pees:tion Numeric Answer
Question: St e (1) 7542 =64(5y — 3) = [i g] foiga Ta9l =FTara o (id) y- STETe YgT T HIA A=A
AT S 3Te.
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Question
D- 100030
Que§tion Numeric Answer
Type:
-2 -1 x—3 -5 z-1 ; .
ad = =Zq =7 = o1 YA fRae siau=t ¥ (line of shortest
0 1 1 2 2 1
Question: -
distance) P: ax—y—z=0 (a > 0) Ta&@R~{ cos Wﬁ'—f?ﬂﬁ T ( 5) =1 feg=ht P

WWW(&, B,y)@'@ﬁ?ﬂ' at+p—ry




Topic: Physics-Section A
Item No: 31
Question
D: 100031
Question
Type: MCQ
Quest SR T [P], &FG® [A] G B [T] B Jer¥d e omed. R fasdfedn qoieard frfa g
uestion:
e,
A [P A~1T9
B: [PAT 1]
C: [PA1T]
D: [PA-1IT Y]
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Question ID: 100032

Question Type: | MCQ

Question: ettt PpIoTed i il 9T amsd?
S (p)
- faga faeearad \p) 9 Yo/ 99RO
B: faeomme 9T 9 faga &=
C: gRT T9d1 9 YSSUFT YHR E
D: faga Rwa g S
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Question
D: 100033
Question
Type: MCQ




M SMERATIAT TH AU qg@BR Tagd A TR B i TRMM 8. R M Yar|
Pelel SR 60 m S, TR fawegera fhwa 3iamwt m 3R Th.

(et 31me, cos 135°= —0.7)

Question: B ,\
» A

A: 42 m
B: 19 m
C: 47 m
D: 40 m
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Question | 100034
_?;pees:tlon MCQ

| 0.5 kg TEGAMTE! TP I¥G WXD YRS JART 0= (322+4) ms~! I YaE FNIG M. Sl
Auestion: THHM, x=0 TR r=2 m T o= gam Feiel Fras s 3.
A: 64 ]
B: 60 ]
c: 120 J
D: 128 ]
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Question | 490035
Question MCQ

Type:




UHTE A Jaenasd RERUIINT q@gdd h S9Eed Md Jaered] JSoUrRasH dReErd R

Question: | rerdT @ M aRGAMTET U W19 Ml 9 Uh HXIG Fodbls TeTed 8. T earedl d9md Teodm

ERERSSEIE R ECIR1E MUK 3.

A: E

3
B: E

5
C: E

)
D: E

15
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%fes“on 100036

Question
Type: MCQ

100 g X9 A, B 9 C 8 M THIRE HUT IR Y90 AB=BC=13 m 3 Sdei 3f7ed.
Question: | HRETE IEIAMTAT P &1 A1ed] HUMGR F e Tofay da 3@, AC YW= dagHTaidrar

B HUMIRIA 13 m 3fRMER P 3deql 3Me. F 9 I 3iar 3.
A: 21G
B: 100 G
C: 59 G
D: A2 €3
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Question MCQ

Type:




V STHRAFRET 27°C AHMER g 2x 107 N/m? SRR U SRIdd a1 [T JATHRA QI
Question: | BEUIT FHAMO! TR A, FaR YRRl QT SMHRA QIS BEUAd FANT HUF YR
Tradl. IRgEn AfE g e, (AT y=1.5)
A 3.536 X 10° Pa
B 3.536 x 10° Pa
c: 1.25 % 10° Pa
D: 1,256% 10" Pa
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Question ID: | 100038
Question MCQ
Type:
(A) STl AIHE B ol d@ IR XUE AR TS Sl Bl B,
(B) Sieel qT€ dTefde deal argadl YUEN AR TfieT Sl ared.
(C) SMHRAM defdeday Rl XUl TR Tfel Holl HAl 2.
Question:
(D) A9 defdel O) argEl &9 dredl.
(E) 999 drefdel @) Iid ATHIRAM AT B,
el feien waiaiqa 4 SR fAaer
A: (A) 9 (D) e
B: (A), (B) @ (D) ad
C: (B) @ (D) W
D: (A), (B) 9 (E) ®wdd
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%‘feSt'O” 100039




Question

Type: MCQ
k [2m| k | | k 2k |
/
7.
(A) (B)
Question: | arepell (A) HEY, 2 m IXIAM & ‘m’ TEIATER RV Pel IRET k R ReRied aryeredr |1 Riret
Sireel 3.
3Pl (B) Wl ‘m’ agAE ‘K’ @ ‘2 K RETar ReRie srdeiedr fwret dredt o, SR (A) A€t
‘m’ TEEA 9 (B) WUl ‘m’ IRGAM ‘x’ fERSEHoR SR geildel, X (A) 9 (B) =1 WK
T, d T, & BTl S o ATHH HeY TR0 BRI
T; 3
A: T B e
T, W2
B: _E.. —_— _3..
T 2
C: _E.. —— g..
T 3
D: _Ti — _.\/_E
Ts 2]
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Question 1 400040
Questi
TyupeeS: on MCQ
Quest 2 uF gR&ID FRE 0 IR 5 C T Reraor 9| Fel. @ieflerdd! SIS e e
uestion:

fAvaToRTIa 95 & SREm= YWEreaRaY IRIYEm Rafdar 3 SIES




Z
= 5%
X
A: o
? y X3 SRR '
0 5— Q(C)
&
= 5
X
B: bl
? 2.51
0
>
7 By
X
C: e
?’ 2.91
0 5— Q(O)
z
= 5%
X
D: e
?‘ 25¢1-----=
0 5— Q(C)
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Question 100041

ID:




Question

Type: MCQ

ARE IS SHoll 3Fetel &M YHIRG 6UT, Yhaa fdefa erama e fad wiesey Smoars
Question: | FFIAT 3M8. TR el ag@IbR Tl e iR 6 : 5 3 9 Wil qegumig Joiax 9 : 4

3. TR A YURTE ORI 3R
A: o s
B: s
C: LR
D: ST
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Question ID: 100042

Question Type: | MCQ

Question: LCR THERIde URUATE SIF=ERER HHal qRadl dreduararal

A: IRl ARART qIedrdl SIRle.

B: UfEedl YTEERIER GERT 1Y Thaxid fHeiderl g,

c: ufeedT HURAERER gAY FUiRa The’ fefder urfgor.
D: SEEEl IRARCT Bl el el

Topic: | Physics-Section A
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%‘feSt'O” 100043

Question
Type: MCQ




| TS, 3RSl AR STEM AP Ped L dIeel avel A1l AP el odel 3 (L >> ).
Qe $Sel YebTd UIdodid I i Hed O fdgar amdedid SRafqcamy@ o Surdl Bidrd.  dadrar
==y g 3TS.

L
Question: I
il i & (¢ |E
G- ] -y
€ennanes L -wemeeennes >
2
A 242 oL
al
2
242 7L
2
C: 2\/5 p"{]I
L
2
D: l‘lﬂL
22 il
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Question
D: 100044
Question
Type: MCQ
5 TR T8 WERAT aBHe aNd T a0 6.9 A 38, & U=l gRedT, 9% O
uestion:
230 V y@mad gRT JRaSA™ 600 rad/s B IRARA Sirel O 3R
A: 5 pF
B: 50 pF
C: 100 pF




D: 200 pF
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Question

D: 100045

Question

Type: MCQ

Question: | YgTefIeTU@! IV I SREX I ?

A WIS Saggend, FRIeTh el ¥ 9) 9 Wil dord YBIl.

B: WA SEUTEN, FRIed Si9el ¥ a) 9 ol ¥ Jord T8Il

N i SR, WAl AT SR} AT YHrE TR aral |qof sfarfa IR
Bl

D: W SRUTS & GWUH SGUJNINET BHl g 31s.
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Question

D: 100046

Question

Type: MCQ
AREAT ST p, T g 3acHih SRIeIedl A d B & &M ddTTed] Yerdiqd vl G

Question: | EIceTell 9 3IHH t; T t, M. SR t,—t,=5x10"10s T p, I p, IR TURR 1:2 3ME. T,
Arexwed gertr Smer wer. faer oM, v, T op & ATHA A I B URTdeT YHRITE I 37TRd.

A: 5x107 199, m

B: 5x10°9 m

C: 15%10 ¥ m

D: 5x10-10 vg M
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Iltem No:

47




Question
D: 100047
Question
Type: MCQ
&7d 800 nm TRITATINIT YT FeTST Sdetl d BIal Teral Ford Yeble Ferdgr arex Jodid. orel
500 nm TRTATEET THTY AR qeal YhRT gerag - dl "ead e SHolf amue . agd
Question:
BTG 3ATe.
(&1, he=1230 eV-nm)
A 1.537 eV
B: 2.46 eV
C: 0.615 eV
D: 1.23 eV
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Question ID: 100048
Question Type: | MCQ
nth FHET GO HRUTR SergerTdl H 3.
Question:
(a1 weviaT o ome)
A nh
27r
B: ﬁ
2r
C: E
2
D: m
nh
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I%‘fes“O” 100049




Question

Type: MCQ
Quest YFATH HIG| HET YUH HROMIT SeTaeiTd Gaaid AT, FHETI DIT AN SR
uestion:
N faer ame.
%
A: : _ € ()
E 2me
%
B: : _ el
: 2m
ﬁ.
C: i . el
M ==
m
%
D: > 2eL
My =
m
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Question
D: 100050
Question
Type: MCQ
IRYTT, SiEl AIB AT WG 5V ag, A=1fharB=1 & A ed aMe 9 wea A9 B I fawa
0V S, Tabid Jed A=0fFHar B=0 am.
Pk
N
Question: D, Y
B K] R
5V
= V=0




A B Y
0 0 0
A: 1 0 0
0 i 0
1 i 1
A B Y
0 0 0
B: 1 0 1
0 if 1
1 1 1
A B Y
0 0 0
C: 1 0 0
0 i 0
1 i 0
A B Y
0 0 |
D: 1 0 1
0 i 1
1 i 0
Topic: | Physics-Section B
ltem No: |51
Question 1 409051
%‘pe;tb” Numeric Answer
Stostion | T T 150 ken/ b T AR & 7 A AT S oA 27 m g2 O O fr T

qrEfdeiedr areied] Udh ISRl dreid o 38 X ol m 3R e el




Topic:

Physics-Section B

Iltem No: 52

Question

D: 100052

1Q_ue§tion Numeric Answer

ype:
il SrEfIeryE, P figaR IR oo gagey bR HRIG 3. 9 F, 9 F, SRR OIRR
1:x M 9T x= ;

Question:

Topic: Physics-Section B

Iltem No: 53

QL{estion 100053

ID:

?ues.tion Numeric Answer

ype:

L < 9 r el ve dR Ul ST HE diERll e, Sl R gAY € F vaedl getd e,

Question: | TITEl el 5 cm dTE. HRI AREATT Ui dRA! oidl 4 L G 190 4r 3REA 4F 9T 3iieetl.
& dR4l didKie d91e cmaTTe.

Topic: Physics-Section B
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Qgestion 100054

ID:

Que§tion Numeric Answer

Type:
TH THd AU TR HIEIr™l 3AMe ol e audaERE] GvR el 9 YAH! 97edl endrar
e 9 dird's URET fdetrell ] YaTAl Ug 9191 20 cm @, Qe Gchidl el e Fael

Question: | T6 SF&El oidkicl BR& ReR . Udeured ardl el 40 cm 38 9 @GSl dRdl aidl

cm 3.

(e =12%X10"° K1 T ag_-=18%x1075 K1)
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Qlfestion 100055
ID:
_Crlue§tion Numeric Answer
ype:
T fRIeTs Whe ArAfdd e 9 18 km/h 7 THSIDbS AN 3. A AT ANA HIEl
Questi BIARTI IFTHNRETAT T &af Yaball Td Cholas URMakid Fieiell GEal. WX I qMe
uestion:
Trheied] SEl Yo aRaRl 640 Hz 318 G gadiiel eaf-ral 99 320 m/s 37Me, TFRI&p™ Vepeiell
M e Adie faws aRaRd Hz 319,
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Qgestion 100056
ID:
Ques.tion Numeric Answer
Type:
6 m o= TMoardl STHRAM JHR Bl 2 wC/em? 318, Toodredl JOURTES de) TSl
Question: | TH® JSSUNRH SolvwEl & x100 NC~ ! arme.
[f&el 3M& : Permittivity of vacuum €;=8.85x10"12 C2 N~ 1—-m—?)
Topic: Physics-Section B
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Question ID: 100057

Question Type: | Numeric Answer




feeiean smpdid, V, 9 & V 3.
2V 1k0
| AAAAA
|
4V
1kQ
Question: | AAAAA
|
61V 1kQ
, NV fr
0
Topic: Physics-Section B
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Qlfestion 100058
ID:
Que§tion Numeric Answer
Type:
Quest | AT 9 d TN ST diedTed] dIRT GHIA) 3791 Wiscd] b R U™l THid d8d odN asd.
uestion:
TR 2] AT ThTa diered] aRal Y 9Rard e 9] e @ d e,
Topic: Physics-Section B
Iltem No: 59
Ql{estion 100059
ID:
Question .
Type: Numeric Answer
efared ggTAidl WiWe! LED (AXTATEI=4000 A) TUR SIS SO g4 FaxTd
Question:
eV M. (I awed Yulied)
Topic: Physics-Section B
Item No: 60
Qgestion 100060
ID:
Question

Type:

Numeric Answer




TV <laRdl ANTerell 91 S 6.03 G A95F TN JOf B AHA O h 3R, AT RGN AR

Question: | g 7T Al km AIST 100 38 T el 591 6400 km 318 TR h Hewwed
m 3R,

Topic: Chemistry-Section A

Item No: 61

Question

D: 100061

Question

Type: MCQ
S UAERIER. SO,ClL, Ufshan SR figor srererd 8.

| 80,Cl,+2H,0 — H,S0, +2HCl

Question:
ALl fIsOmd qul SRS OIS 16 mol NaOH @Rl amReredn SO,Cl, A
| 3.

A: 16

B: 8

C: 4

D: 2

Topic: Chemistry-Section A

Item No: 62

Question ID: | 100062

Question Type: | MCQ

Question: QiU DIV FdicH 3ibTdl Ad 3erd el ?
A: + 1

- n=3,1=2, my=0, s= 5

B: .

- n=3,1=2 m=-2, 5= )

C: _ 1

: n=3,1=3, m=-3, s= )

D:

n=3,1=0, m;=0,s=—




Topic:

Chemistry-Section A

Item No: 63
Question
D: 100063
Question
Type: MCQ
BIH® ATl STIUTRIIe Mevid Te 0.0405°C =T, SEumar efi 0.5 mL L~ 1, 3ffor s=ar
Question: | 1.05 g mL~! 3Me. UroATHRET k=1.86 k kg mol 1.
B AT FEUTET &b UTh TS
A: 0.8
B: % |
C: 1.9
D: 2.4
Topic: Chemistry-Section A
Item No: 64
Question
D 100064
Question
Type: MCQ
20 mL 0.1 M NH,OH &m@uT, 40 mL 0.05 M HCl @rquid fivieer. figome pH e,
Question: | (g WFRT : Ky (NH,OH) =1x 1075, log 2 = 0.30, log 3 = 0.48, log 5 = 0.69, log 7 = 0.84,
log 11 = 1.04)
A: 3.2
B: 4.2
C: 5.2
D: 6.2
Topic: Chemistry-Section A
Item No: 65
Question ID: | 100065
Question MCQ

Type:




Y - 197 A1) - 11 S SIsar & ¢
A - 1 gy - 11

(A) Ny(g) +3H,(g) — 2NH;,(g) ) Cu

Question: (B) CO(g)+3H,(g) — CHy(g) + H,O(g) 1) Cu/ZnO —Cr,04
(C) CO(g)+H,(g) — HCHO(g) (I1I) FeIOy +K,0O + AL, O,
(D) CO(g) +2H,(g) — CH,OH(g) V) Ni
Gl fetedr WK 9rg SR faer -

A (A) - (1), (B) - (IV), (C) - (I), (D) - (1)

B: (A) - (1), (B) - (D, (C) - (IV), (D) - (1IL)

C: (A) - (I1), (B) - (IV), (C) - (), (D) - (1I)

D: (A) - (1), (B) - (1), (C) - (IV), (D) - (1I)

Topic: Chemistry-Section A

Iltem No: 66

Question 1 100066

_?;pees:tion MCQ

Question: | gefarele HBUU [Rn] 5f146d17s2 Ul Feraadm@l [UPAC UG TR,

A: Unnilbium

B: Unnilunium

C: Unnilquadium

D: Unniltrium

Topic: Chemistry-Section A

Iltem No: 67

Question 1490067

Question MCQ

Type:




diegre (Cu) Fepyomd o 6g7/9gT argel FBUH $lecdl Wdd 3Tee.
(A) CaO
(B) FeO
Question: (C) AlO4
(D) ZnO
(E) NiO
oo TRE 9rg SR e
A (C), (D) wad
B: (A), (B), (E) ®a
C: (A), (B) ®dd
D: GRER
Topic: Chemistry-Section A
Item No: 68
Questi
Dot | 100068
Questi
g ;pees: ion | \1ca
Question: iy HiegHIdedl H,O, 3T el weenr fufhdge geacdde £l
| PffE 2
A Mn2+
B: Mn4+
C: Mn3+
D: Mnﬁ-i-
Topic: Chemistry-Section A
Item No: 69
Question ID: 100069

Question Type: | MCQ

Question:

TR T T HaWid aRIeR HH Jai fasT




A: Li<K<Na<Rb<(Cs
B: Li<Na<K<Rb<(Cs
C: Cs<Rb< K< Nac<Li
D: Li< Na<K<Cs<Rb
Topic: Chemistry-Section A

Iltem No: 70

%feS“O” 100070

Question

Type: MCQ

Question:
BE, + NaH — 20K | A 4 NaF

A + NMes —> B

A: MDUIE GG

B: TShIHI

C STl

D AT

Topic: Chemistry-Section A
Item No: 71
Question
D: 100071
Question
Type: MCQ
Questi s anfor arfriRera wA= Sififshd TUR SieledT Sfaaatord WgImEl UHR
uestion:
3T
A: ULIENIEW
B: gaic

C: UREAC

Gleflel AMhIge TR Fetedl ‘B WYl dRI4 Juaciral i




D: FEIEE
Topic: Chemistry-Section A
Item No: 72
Question
ID: 100072
Question
Type: MCQ
Question: | THRRTARIMNDG RIS YR WoH BVIN HRUNYA Seiel XTEd-D 3e.
A NO
D: HCHO
Topic: Chemistry-Section A
Item No: 73
Question
ID: 100073
Question
Type: MCQ
X’ Sfer Y 9 SififehaT gty WU ‘A’ < UgE SdE adl 9u1 i WEsdre adl.  aged
‘@ A ‘. ‘a’ I SfffdTed PlER Sl SR fedl 1 HRURE TR 2@l
T
Lb a+0=C-CH;—-C—-CH;
(G CH
Question: | H,C=C—-CH,—C—CHj 3
I CH, CH,
CH, v | |
. ¥  , b+0O=C-CH,-C-CH,
GgT A |
CH;
X 3T Y’ IATHA 3re
A KMnO,/H* 3for 3Rfad KMnO,, 273 K
B: KMnO,,(3r¥&d), 273 K 3o KMnO,/H *




c: KMnO,/H* 3ot O,, H,0/Zn
D: 0,, H,0/Zn 81t KMnO,/H*
Topic: Chemistry-Section A
Item No: 74
Question ID: | 100074
Question
Type: MCQ
Grelidl JHRFAT TIR Sieter |ald o ReR erferen Sq|
OH
Question: . s
(i) HyC 4@7 SO,Cl, Pyridine
(ii) NaCN, DMF
CN
A
B:

s :




Topic: Chemistry-Section A
Item No: 75
Question | 100975
Questi
T;.Ipees: on MCQ
Question foreTear Rerdra ifipor MMfoT ST Aia IRIER AN A QRAAUIRT Erefierud! arfifhar
u on:
3.
O O
A Cl H, H
Pd.BaSO,
O
CN

B:

() DIBAL-H H

(i) H,0

O
CO,C,H5

C: ¥ ;

(i) AlH(iso Bu)Z} H

(i) H,O




O
OH (I NaECIZO? H
11) H2504, H20

D:
Topic: Chemistry-Section A
Item No: 76
Question
D- 100076
Question
Type: MCQ
NH, sRIsR S 6g7 ‘A’ 9 afufbar &o7 Fav dufdeurar €ga B <dl. B Fav drad
Question qufdedaR 9T C &l (CgHNO,). W7 C, 39+l KOH, 3fedpel FeiRgs I HHAN
u on:
HIHfhAT HHT R e IRIEGR Sl (TESH Ho- TAHD IAET ad. YT A
3.
CHO
A:
CHO
CHO
COOH
COOH
COOH
CHO
OH
Topic: Chemistry-Section A

Iltem No:

7




Question ID: 100077
Question Type: | MCQ
Question: HAHIST dgaRD d HEH $%9 TR BN
H,>N N NH
2 Y m/ 2
A NYN + HCHO
NH,
H->N NH
2 W 2
B NTN + HCHO
NH,
H,N NH,
+ HCHO
C:
NH,
NH,
//'
N N + HCHO
NH,
Topic: Chemistry-Section A
Item No: 78
Question ID: 100078
Questi
T;peesz ion MCQ
Question: | I THPCBRUT BeAHaR Eelleiics! BVl HXa STETe VBT,




A: IR
B: gTH
C: BRIRE
D: EGRED
Topic: Chemistry-Section A
Item No: 79
Question
ID: 100079
Question
Type: MCQ
Quest el HIERER §Y B, g W@ATTS B HGAT $O9, FHard ARG HRUANTST il
uestion:
YME g arORard i FEUTA .
A USRS
B s
c: ST
D. AR
Topic: Chemistry-Section A
Item No: 80
Question
D 100080
Question
Type: MCQ
el g fag™ oo smed
faem 1 feRiel, KHSO, SRR dufdadiey, #av @rd fFofe deddy gRIfe aar
_ .
Question:
faem= 11 SR o Bl I e I FeaRiar Ucd I & TSIl arguiara!
T SYANT Bl
Ag I gt -
A: S Ry 1 anfor 11 SRR sed.




B: a8 fum 1 anfdr 11 gaial ermed.

c: fasm 1 SRR ame wrg fauE 11 g are.
D: faum= 1 g amg uw=y fdum 11 SRR 3.
Topic: Chemistry-Section B

Item No: 81

Question ID: | 100081

Question Type: | Numeric Answer

Question: N,, N2+, N,™, sz_, O,, 02+, 0,7, 022_
Topic: Chemistry-Section B
Item No: 82
Question
D: 100082
Question .
Type: Numeric Answer
U, ABIEe T SHEdge &g Saerd Ul Sie 298 K @ agdd —2220.0 k] mol 1,
—393.5 k] mol !
Question:
amfeT —285.8 k] mol~! amed. WA (C,Hg) =01 TSUME Ui SHIdBr TRATI
k] mol —1 arme. (Sraeen quiiera)
Topic: Chemistry-Section B
Item No: 83
Question
D: 100083
Que§tion Numeric Answer
Type:
27°C o1 SfIeTax aigdl &9 4 atm 38, MG AYAFTRl HiSATd SMHIRAM UC hel. el
Question: | @rg@l FAIM &S x10~! atm 3.
(3MER FRTEN : 27°C & 9ogral 9raare 0.4 atm.)




Topic:

Chemistry-Section B

Iltem No: 84
Question
D: 100084
1Q_ue§tion Numeric Answer
ype:
Zn|Zn2* (aq)||Sn**| Sn @1 TC fdWa 298 K <1 0.801 V 3=, o« AfHfhIATS! Srfifepan
HATHR 1072 3. fooiedT faeavr - Heriiel SHfhdd Hewril SieTedl Seidedl Al
Question: e,
. RO __ 0 _ 2303RT _
(3MYR | E2n2+|2n =-0763V, ESnx+|Sn +0.008 V and S = 006 V)
Topic: Chemistry-Section B
Item No: 85
Question
D: 100085
?ues.tion Numeric Answer
ype:
g YRS I 500 Torr FEA A HYT A T1 JqeCAMTIal JAGHTet 240 s 3. YRS
Question: | & 250 Torr ST TGP 4.0 min 33,
ffpAT P ame. (quiierd eR)
Topic: Chemistry-Section B
Item No: 86
Question
D: 100086
Question .
Type: Numeric Answer
@reflel g Siciel Tel.
[Co(NH,)GIP*
[CoCI(NH,)]>*
Question: | [Co(CN),J*~
[Co(NH,)5(H,O)]3*
qaid S AR YR AU BV 41 SIcielrd MM had Jadbid AUy JI
B.M. (ST o)

Topic:

Chemistry-Section B




Iltem No: 87
Ql{estion 100087
ID:
Ques.tion Numeric Answer
Type:
9 Co3+, Ti2+, V2+ afftr Cr2+ #efiet, S AfYPRES SRIEd AFERER BISOM IR HS I
uestion:
e, TRAT YT B daDId S o3 B.M. a8, (Saced uiieTd)
Topic: Chemistry-Section B
Iltem No: 88
Question 1 400088
1Q_ue§tion Numeric Answer
ype:
Vestd Ugdid 0.25 g WA WY U AR—IGISTd FiREdBR0T SR TR Heled]
Question: | gIf+AT 2.5 mL, 2 M H,SO, ¥ SaRIMI$RUT del. Hald el TR 5 o %
3TE.
Topic: Chemistry-Section B
Item No: 89
Question ID: | 100089
Question .
Type: Numeric Answer
Question: | g C,H N HEI sp> APV FTeTed] Hla-Tdl & 3Te.
Topic: Chemistry-Section B
Item No: 90
Question ID: 100090

Question Type: | Numeric Answer




Question:

Qrefl faetear aifyfehd

H;C 0
C—-OEt O Et
CH;.,_—(":—CHS
O
@I Et =—C,H; 3Mme)

A STETA HRRA B/ B &




